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Canchy-Schwarz Inequility
ya,bek",1a11b1 )(a,b>)

ppt) For IR:Need toshow (ai+an) (bitbi) (a, b, +qubz)"

E aib,"+anbi+ ab +bb,made tab-
-

Easb, +9babe, 0
=>lamb. - a, b,R30x

For IRN:To show (ai) (2 bin) > (2 aibi)"
Consider (9: -b:x)

2

=(2d:2) x -2/[aibi) x +(29:2), 0

Let x=3,3b, bs--asat+,e
=><a,as -191 1613 (9, b> 1*#



(pf) (Continued) For K",
consider <(9: -bix),(ai - bix)) =2(ai - bix)(ibix)

=5(aiai- 9;bix -9:5;x+bi5ixx)
=[((9i,ai) - (bi,9i) X - (9i,bi)x +(bi,bi)<x,x)]
=(a,a) - (b,4)x - xa,byx +(b,b)(x,x)),0

45x= =>
anissensee



Well Ordered Principle (WOP)

XSEIN, 3F=> 5 has the leastelement
/

Principle ofInduction (PI)
DIES

If 3 =N,
&h= 3 =k+ 1 =3) =3 =NN

Prop) WOP => PI

ipts (-)) Suppose SFIN, => NLSF.

ByWOP, INLS has the leastelementn => n -1A/N23
=>n -1a/Nern - 1tS.

But n=1, => n- 1GN =in-1t}

By P1, =n=3(7)



(E) Let 3-/ have no leastelement

14 =>15 - D

Suppose RAS, then k+14S (or else it is the leastelementof3)

=>b3-

By0 +2:PI =N13 =/N =3A*


